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Remainder Theorem

Find the following:
1. f(5) if f(x) =4x3-6x2+ 7x - 2

2. f(-2) iff(x) = 3x3 - 7x + 5
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Factor Theorem

The Factor Theorem:
When f(c)=0 then X-C is a factor of the polynomial
And the other way around, too:

When X-C is a factor of the polynomial then f(C)=0

Find f(2) if f(x) = 2x3 - x2 - Tx + 2.
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Factor Theorem

Factor and find all the roots of f(x), given
that -5 is a root. f(x) = x3+x2-17x + 15
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Factor Theorem

-4 is aroot of x4 + ax3 - 19x2 - 46x + 120.

What is the value of a?
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Draw a sketch of the

third degree polynomial.
]

f(x) = (2x + 1)(x - 5)(x - 3)
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Remainder Theorem

The Remainder Theorem:

When we divide a polynomial f(X) by X-C the remainder I equals f(c)

Let's look at an example. Letf(x) =2x2+ 3x-5
Find f(x)=(x - 1). Then find f(1).
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